—

JJ(;

Inverse axiom: There's an e in each col, row, symmetrically.

e | |roo | Rizo ‘ Risn ‘ Roao ‘ Rago H Fq ‘ Fa 3 | Fi2 |“F23 Fﬂ

e 6) R60 | Ri20 | Rigo | Roao | R3oo || Fr | F2o | F3 | Fi2 | Fa3 FJ I
Reo || Reo | [f120 | Riso | Raa0 | R3oo (E‘ } Fio | F3 | Fsa | 2 | I3 | R
Ri20 || Ri2o |[Riso | Raao | R3no fj R’;) Fo | Fs | F1 | Fos | F3a | Fi2
Rigo || Riso ||R240 | R300 é / Reo | Rizo Foz | Faa | Fio | F3s | A1 | P2
Raso || Raao | Rsoo. /g y, E;:) Ri20 | Ryso E3 Fao | Fsa | F12 | F23
Rs00 || R300 @ Ro | Rizo | MY 0?3'(’1“0% Mg_‘ F12 f1_ Fa | F3
Fill || Fsa | I3 | Fs | F2 | A1 e J| Raao | Ri20 \R3oe/| Riso | Reo
Fofl Fo|| Fiz | F1r | Faa | F3 F23\ Ri20 (’ej Raao | Rso | Rsoo | Riso
Fil Bl Fs | Fo | Fio | Fi | Fau Moo /3;;; (e ) Rigo | Reo | R3o0
Fiof Fio|| Fr | Fsa | F3 | Fa3 | P2 @603 Rao | Riso Raao | Ri2o
Fos| Fos| Fo | Fio | Fi | Faa | Fs || Riso | Reo | Raoo | Ruzo (e) Raso
F34 1\]‘34‘ Fs | Fs | o | Fo | A | Raoo| Ruso| Reo | Roso | Rizo (f)
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